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F‘s ZEB0UBEAY 98, 158 90,588 7.570 | OBSIO0tLESE At
- [AAZZ0Y¥(Z20 50318y, 2ZALUS. IRSASSH S = 6,000,000
ESDSOY(ZZIBAN, I, A4 S) = 42,834,000
JEZEA0I(ZE20| LSS, FH2Y, UK, #Y3 ) = 9,000,000
SN (SEBAY SHEE AN 7Y) = 4,500,000
DRDMH(FL % SA7Y) = 6,400,000
29382 (2SS|0tU=H 201 2989 &Y) = 2,000,000
INESTPY 27,424,000
gl 98, 158,000
316 XHACIO{ WAL 800 800 - |OHOIREXI A
DU, DIRA(AAA), DSTUSH(L2E), BIHTR, BIIX 7L 800,0008 = 800, 000
Bl 800,000
37 QEHNE WERRAY 2,000 2,000 - |CYEnAIAYI
YSDKDMY! 2,000,0008 = 2,000,000
Exl 2,000,000
318 OlOISEXIRAL | 1,148,137 1,211,216 |- 63,079
OOlOIS 20| BS4E 868,937, 100%
OOLOIE 20| 2RE 214,920,000%
OOH0IE 20| 2iFaEY| 5,000,0008 = 1,148,137,100
OOL0IE 20| DKH| 25,980,000%
OOHOIESE0] 2l+E 33,300,0008
2 1,148,137, 100
0211t 31,869,696
OS=&Y| 2,602,000
OOiH| 2,040,000
319 ESSSHAMY 47,500 48,000 (- 500 ([O+€Hl % #+2 2,000,000 gAH = 47,500,000
OZ =&l 6,238,304
OUIESIAMAHI 1,750,000
OZIIHHI 1,000,000
320 ABOIUR FAHKRK 9,000 11,000 |- 2,000 |O ArdH|
2PAMH % 2B 9,000,008 = 9,000,000
B 9,000,000
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321 BROIDRAIY 17.616 17.616 OAteitl
7|Z=Z 3 25,0008x120A|Zt= 3,000,000
A3 14t 25,0008x120A| Zk= 3,000,000
Z3 24t 25,0008Ix120A| Zt= 3,000,000 14,016,000
ET =X 250008x120A|2t= 3,000,000
BT = 28000HAK72A17E= 2.016.000H _
S22 v = ShZoiE 25,000 8x4A| 2123 = 1,200,000
SHRE3E B2 SHR0jEE 25,0008x4A|2tx1223]= 1,200,0008 3,600,000
SRl B oot 250008x4A1ZHx128]= 1,200,000
B 17,616,000
2 w0t wtow EmmaIY 10,800 10,800 - |Ogi2ibl 9,720,0008 9,720,000
O2gHl 1,080,0008 1,080,000
B 10,800,000
20 AR GRERl 21.840 21.840 _ |ogi2itl % 22l 21,840,0008 21,840,000
B 21,840,000
OB SAY (UAME, TODHY, RAME, ME.FA HUIA, ALBIE BAYX
324 19091 AT R AR 36,862 - 36,862 | &) 25.350,0008 . el 36,862,018
’ ' OX Y& A (NEA, FYS FERS, 121017 S=AI) 8,310,000 RE
OZ= 3,202.018%
s weoien woas & asny 20,000 20,000 - |OHZ0lRIKt AU W USXN W B 20,000, 000
5 GELIS AWM A& 2,000 2,000 - |OCI230ts & Ot Al 2w 2,000,000 B 2,000,000
327 DX BALE 20,411 15,600 4,811 |OCISSiLts TRME TAXBALE 20,411,0008 e 20,411,000
328 SHITHS SAE 24,500 19,000 5,500 |O#HANS FHAZMEMUIAAY SHITSZALE 24,500,0008 A 24,500, 000
329 ZHOIEBALE 14,000 10,000 4,000 (OB OIS S AR 14,000,0008 B 14,000, 000
%0 SEISH AU 27,500 32,000 |- 4,500 |OSS2SH AIL2Y(5MHY ) 27,500,0008 B 27,500,000
91 pRE JaEn Laan - 3,000 |- 3,000 (OBtRX Jis2l T2 o A -
2 312 Axeaxe vunEAT - 20,000 |- 20,000 |OMAS EHEZNWE SENVAY 'BRs swL2E" o” 2 -
o #woe wydemLEAY - 70,000 (- 70,000 [OFSisls WYIMEXVAY ‘'#@=ES UM 0N £ -
304 NFRRE MY 6,000 7,080 |- 1 080 |OTI2BIXIY U 322071718 XIHSRAY 6,000,0008 e 6,000, 000
s JEBNARWS A 30,000 30,000 OZAIWUESHE CI23IISAL3(206-21129) 30,000,0008 A 30,000,000
36 AL UMD 5,000 5,000 ORZY /UM 5,000,0008 iz 5,000,000
37 ABOIUN HYRDE 22,000 22,000 OZ=0I2Xt #AYWK 22,000,000 A 22,000,000
o wn 8 awsime i 43,715 - 43,715 |O Y= AXIE 43,715,0008 £ 43,715,000
07 X & 227 250 |- 23
71 EXE 227 250 |- 23
71 X 227 250 |- 23 20218 EX2 15JHALY OIXHEHE 227,0208 227,020
B 227,020
08 OilbIHI % JIE - - -
81 - - -
811 QiHIHl - |ooiuibl
812 prar3 - lowtaa




